Vector Space and subspace

Consider the vector space V=R", y

- Let U consist of all vectors in R* whose entries are equal
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- Let U consist of all vectors in R* whose the third entries are equal to
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Subspaces of R3
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Let ¥ = R>. Show that ¥ is not a subspace of ¥, where
(@ W ={(a,b,c):a>0}, (b) W={(a,b,c):a®>+b*+c*< 1}
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Let ¥ = P(¢), the vector space of real polynomials. Determine whether or not W is a subspace of
V, where

(a) W consists of all polynomials with integral coefficients.
(b) W consists of all polynomials with degree >6 and the zero polynomial.

(c) W consists of all polynomials with only even powers of .
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